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Find the area bounded by the graphs of
y=—x, ¥y= +x and y = 2. Choose
the variable of integration to write the
area as a single integral.
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Fory = x—x%and y = kx
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as shown, ﬁnduch that Al = A2.
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Compute the volume of the solid formed by
revolving the region between x = y? and

2 — x = y? about the y — axis .
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A - \ 4 MG aba o s ke T e
Use the method of cylindrical shells to find the bliinl A0 glaus 44y i Ledntiia

volume of the solid formed by revolving the dzlaiall )5 e ZU aeaall paa

region bounded by the graphs of y = x% — 4 T x2 — 4 fiaie a5 ) geanall

j[(Z — x)(8 — 2x2) dx
v = 27tf[(2—x)(8—2x2)dx

0
4

v=2r [[2-y)(8-2y*)dy
Yo=zn |
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v=2m j[(x—Z)(S—ZxZ)dx

-2




Find the arc length of the
portion of the curve y = Inx

with 1<x<3
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A diver drops from 36 meters above slall 58 e 36 i) (e (uldae Ladi
the water. What is the diver’s velocity =~ albea¥) dbal julleall deaiall de jull L
at impact? elall
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Aright circular cylinder of radius 1m and 1m Wkl Chal Jehb daild 45 50 4 gl
height 3m is filled with water. Compute the Jadl cvoad plallydnlies 3 leeladyl X €

work done pumping all of the water out of  E3I 7 4ol I oLl 8 s sie (ol LL g
the top of the cylinder if the cylinder S 1 Al glaadl] g glall 6 jall e g
stands up right (the circular cross-sections ald sy A Al gkl ) =)
are parallel to the ground). (el ee &g ol dpa el alaladll ) Sy
The weight density of water is 9800 N /m?. . 9800 N/m? Jual 33, Aals aly ”
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A thrust-time curve for a
model rocket is shown.
Compute the impulse.
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For f(x) = ce™, find ¢ so Euayc gl fx) = ce™ K

that f(x) is a pdf on the ( pdf ) adidial A dlls F(x) oSS
interval [0, b] forb > 0. .b > 0 &][0,p] sl e
© _yx
fC e d%x = |
0 o
X
4 inl =Y
- -y
T 1xe 0
%c\o -¥b -—-—Vj
4 - --4Y D V| -
C = c €
1—€4b o
c=4(1+e* -4 “
) S C= T > 7=



Find the mean of a random e il Suall b gl 2 f
variable with pdf f(x) = x+2x%  f(x) ( pdf ) 4llaisy 4%l dia

on the interval [0, 1]. [0, 1] 8580 e = x + 2x3
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Evaluatef i dx f@ dx dad 2
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Evaluate 4ol -"?-JT'
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Evaluate 3 j J:_-._gi
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Find the partial fraction

decomposition of
x+ 4

f(x)=

x3+4x2 + 4x

1 1
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gl <2

Solve the differential equation dalalail) Adataal) Ua

y' =3y, y()=-2




Strontium-90 is a dangerous radio active daliall Uai) i 90 — ?Jﬁjj‘ium iz

isotope. Because of its similarity to

! i L v 1 t!
calcium, it is easily absorbed into human ‘*’ }S'“ &l d.gql:m :- : ‘{'b .*1 X
bones. The half-life of strontium-90 is 28 Q—LHJ .‘dj-s-w JSJ 44,)“41" ?Lb-’d‘ daran
years. If a certain amount is absorbed 28 c:“)‘-" 90 — {"Jﬂﬁj A U JMJ‘ Bl
into the bones due to exposure to a T < el i) 15
nuclear explosion, what percentage will P A ¢ 'l 1) LALD
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Which differential aaull doliatanll ey alalll Hgi
equation is not separable ? ¢ aill AL1E

/e

https://bit.ly/3fVc7ts



https://bit.ly/3fVc7ts

